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it's 4:00 pm on October 31, and you just realized that it was your
job to contribute the scary sound for this year's haunted house.
Supplies at hand: resistor

—— |—— capacitor

S— }— 12 V battery
copper wire
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(scary!)
For optimal scariness, you should modulate the sound by
repeatedly opening and closing:
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This is a portion of a circuit loop.
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a) Current flows clockwise.

b rrent flows counterclockwise.
¢€) Cuent direction depends on the rest of the circuit.

Why are batteries in a flashlight
connected in series?
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